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Unit I

1. What are the purposes of business research ?

Present an overview of a research process. 15
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2. Distinguish among the following sets of items,

and suggest the significance of each in a

research context :

(a)
(b)
(c)
(d)

(U8]

Deduction and induction
Concept and construct
Concept and variable

Hypothesis and proposition. 15

Briefly explain the circumstances under which

you could make case for using the following :

(a)
(b)
()
(d)
(e)

Field study .
Laboratory study
Longitudinal study

Cross-sectional study

h

Panel study. 1
Unit 11

The mean and variance of a binomial
distribution are 2 and 1.5 respectively.
Find the probability of :
(1) - at least 2 successes

(i) at most 2 successes.
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(b)

A gardener knows from his personal
experiences that 2% of seedlings fail to
service on transplantation. Find the mean.
stapdard deviation and moment coefficient
of skewness of the distribution of rate of

failure to service in a sample of

400 seedlings. 10+5

5. (a) What do you mean by standard normal
variable ? Bring out the need for having
a standard normal. curve.

(b) A normal random variable has 45 as mean
and 5 as standard deviation. What is the
probability that its value is
(i)  Less than 406
(i) Greater than 55 ? 5+10

6. (a) What is Statistical Esuimation ? Explain
the properties of a good estimator.
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(b)

A company is engaged in the packaging
of a superior quality tea in jars of 500 gm
each. The company is of the view that as
long as the jars contain 500 gm of tea,
the process in under control. The standard
deviation of the process i1s 50 gm. A
random sample of 225 jars gives a sample

average of 510 gm. Is the process under

control ? 7+8
Unit ITI

7. (a) Test market result of two advertisements
A and B, yielded the following results :
City : A B
Who saw the advertisements : 220 220
Wha tried the product : | 40 35
Given the data, test the hypotheses at
o = 5% that :
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(i) Both the adverisements are equally
effective.

(ii) , Advertisement A is more effective
than advertisement B by more than

0.05.

(Effectivness is proportion of viewers

who tried that product)

(b) Consider the following data :

Sample A Sample B

Sample Mean 100 105
Standard Deviation 16 24
Sample Size 800 1600

Test, at 5% level of significance, the
difference of means of two populations

from which samples are taken. 8+7

(a) How are non-parametric tests different

from parametric tests ?
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(b) 2000 students are classified according to (Compulsory Question)

their 1Q level and gender. as follows

10. (a) What do you understand by unit of

IQ Level Total
: i analysis in a research context ?
High Medium Low 3 g PR
‘hat condition can the FoO1SSO
Boy 320 600 280 1200 (b) Under what ¢

1 istribution approximate  Binomial
Girl 280 200 320 200 distributio PP

Total 600 800 600 2000

distribution ? ,,

(c) What are Type I and Type II Errors in
hypothesis testing ?

Is there any evidence to support the view

that gender has no association with IQ

level ? (d) What is ANOVA ?
Use y2-test. (x2=5.99 for df =2, o = 5%). (¢) What are producer’s risk and consumer’s
5+10 risk in acceptance sampling ? 5x4=20
9. (a) Define Statistical Quality Control (SQC). (Hindi Version)
What are random causes and assignable Az ;. T EE A Y HH Y FH TE W WY
causes of variation in the quality ? Why & g offye @, g0 g, R i Mﬁu_
is it necessary to make a distinction 7 s s | WA w1 AfeEEd €

between the two ? :
(b) Briefly explain the following :
(i) X-Chart | st oduR @ @ sewd € 7 fE

3T i w gfeda ST | 15
(ii) p-chart. 748 i Sl

B-4557(TR) 6 (3-29/36)B-4557(TR) 7 P.T.O.



2. frefafed Ogf & ¥ § o We wifu

dqu EYE 93 § Yde 1 HE diEd
(1) fmA e e
(9) ergumen &R fafifq
(9) 3@uron 3R gited
(3) SUHCIA R W&E | 15

3. 3 uffeafedil &1 wfera aolw wifse e

Spfa o Frafafea &1 wam & T w9
T GHd ©

(1) & g

(9) EIeE TegT

(9) MR g+

(3) HE-GREA T

(3) Y9 I=mEa | 15
3s 1

4. (1) & fgudm foqor =1 wem R gEw

FHY: 2 qAr 1.5 ¢ | F s wifemar
wa%m.n

(i) ®H ¥ ®H 2 HheaW

(i) oIfyw & afusw 2 wwoad |
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(9) UF Aol oA Afeara sHwel 9§ Sl
g foF AU T W 2% o T Fer
€ 1400 TR0 B UH A H rEwew
faqor X w1 WEd, HHsh fa=eE qen
foumar oeel Unis @ B | 10+5

. Aﬁvﬁjﬁﬁﬂﬂﬂ@%ﬂﬂﬂww

HHeh YEMEE O W@ % e eravaehan
& GUA HiNT |

(9) TF GH- Agfess = hl WL 45 qef
& foeed S5 | @ uited ©

SHhl HIH
(i) 40 ¥ *H
(i) 55 @ ofm B 2 5+10

. (%) Wi e F © 7 TH I

3Mheh & TN Sl AT HiST |
() T&H HUAH FAH 500 TH. IR H 48R
UEEl drell W s Ui el @ |
FUAl 1 WA ® fF oW 9w WR o
5009 =@ €, wimw e o ®
i 1 A foEer 50 UM R 1 225
SR TH ARSE AYA 510 W THA
s a1 © | F giwen FreEm § § 2
7+8

3-29/37)B-4557(TR) 9 P.T.O.




TS 111

7. (1) T fommgai A R B & 99K Qe
frafafea ofom 29
e A B

o=t o= 2@ . 220 220
foeiv sare =1 wan foran 40 35

TE /U MW §, a=5% W SThe

wl qheu wifsw fF o

() = fomom @ ®9 Q4 9wEt ©

(ii) §§>Eﬂﬂwﬂ§,w

0.05 ofuss waEl & |
(FTERicIal SEfeRl 1 EMEW § TS
o IEE H wAm fmar)
(a) frafafea el W fmR FfbT .

T A WA B

T AT 100 105
e fa=eH 16 24
WA SRR 800 1600

5% WHAl &R W T Il ® T
% SRR HT TOHU HifST wiEl @ A e

SicECE 8+7
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8. (31) R-Uydfew uhew uiifew whaon @
a9 film & 2
(9) 2000 BE I 3R [Q WX qA fom &
STER Frfafen a0 o fawfem faar wn
# 4 _

1Q @ Eag|
S wEwm o Fm

BIE] 320 600 280 1200
BE 280 200 320 800
A 600 800 600 2000
F ™ G W e wE & fau
A9k UE B wed T fF M ow 1Q
R H WY wE 9y TE o8 ?
x2-9ET (32 =5.99 for df=2, a.=5%) I

& i | 5+10

9. (o) WfeAsa Yo fEFT (SQC) =
femfad @i | o fafiear @
q¢TS HRO I THEASE HRO T ¢ ?
T W SRR w = oevEs § 2
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